Bz} 179 Al ARE @, @, @7 d&Uth Al 2o gre 110

o), Al #4:0 #AE @7} QT S AT, O @t 27}
Atk guTh Ot @ - D] & FHAL.,

| 2
13
b=
> T17

_9 9-© 5-9©
©. 0,0 _0+0+6 _,10 2
17 17 17 17 17 17
O+ © + ©=27

Q=0 -2 - O=0+ 2
©=0-2-0+2=0-2-06=0+14
O+0+©=27
Q +HO+2)+(Q+4) =27
Q+Q@+Q+6 =27
O+0+0=21
=17 0=9, ®=11
7 9 11
O=37.0=7.0=3
11 7

9 13 o
E}E}H@-F@—@:ﬁ‘Fl—?—l—?:l—? TYtt,




. = 4
b AN A Hok G FLA] S Al 4L L ]
o 5 ASHAIL B4 ot Yk TR D 22 F, FRaolA
7

AEF 1201 5 o Iloh AE Aol Fol Y AAKE R L

QU717

=
=

[

| 2
> el 14L

B ~

L 2 & ABSAO R 30 AFA N Hololt

91 F& 1012 S 05 AT T ALHE WAL
Jyt.
4 36 9 9 9 9 _ =
4-=_=4 11 olug 2HFA
58 stststs” st #
_ 1
WOt 9 FTA] FL2 = 12(1) AM
L fTae g




. = 4
b AN A Hok G FLA] S Al 4L L ]
o 5 ASHAIL B4 ot Yk TR D 22 F, FRaolA
7

AEF 1201 5 o Iloh AE Aol Fol Y AAKE R L

QU717

=
=

[

| 2
> el 14L

B ~

L 2 & ABSAO R 30 AFA N Hololt

91 F& 1012 S 05 AT T ALHE WAL
Jyt.
4 36 9 9 9 9 _ =
4-=_=4 11 olug 2HFA
58 stststs” st #
_ 1
WOt 9 FTA] FL2 = 12(1) AM
L fTae g




Z km JY7H?

LSy
.

wlo]7} 2+ 7]

,w.o
e
N

o
o
i
o

~

3A]

0|

—

l_l

<t

—

I

Mo §
S~—

+ oo

<t | Yool

— i

T

[a\ N ey

[a\]

l_l

<t |

<t

+

<t |

<

l_l

<t |

<t




H7]
7 1 3
@5—2§ @7—65 @10—7§
® 9,0, @ 9,6, 3)O,Q,®
@ 0,60 ® ©,0,0

B
7 9 7 2

1 9 1 8
©T-65=65-65=3
3 9 3 6
1 —_ = = _— —:2—
©10 79 99 79 9

©, 9, EY¥YH.

At A7} AL 24 D




2.

[e)

il

[
H =

350&

ull

>

70 % 5 = 350 (&)




FaE A7 Al 7R o WA AR L2 1A, 1) A

= il

SLuaz guAs QoA ey £47F 148 o
el oAl 7k Arle] 9 wjlA) FahAl 0,

T 7

LI

ZolA 2t A==

RN

6 o 3 4 -
met o 2 o] eI,




[ 2
> = 132

wreta 22HE9] e
43+ 44 + 45 =132 ¢




97t 24, 0%

—(:31_

, 71A

336 7

b

ull
KO

.I

>

48 x7 =336 ("N =

T
=

. TAIZE

j
o=

=
=

8x 6 = 48 (7M)




Aol M gefrbs 273

o 2

10.

A7t &<t 10 71 €

1
9

o] R A7}

720 7H

P

ull

(8247}

2
o1

9
92
11 +

be s o] Jj)

Rt gl

(A} 1417 59

10 x 9 = 90 (7H)
(22417} 8 417 B9t REL wHR o] 7%

90 x 8 = 720 (/1)




11.

207119 A B4 @, @, ©7F e

5

33, @7t @Ee 1 oAl gy

A 5ol ge 2 ol Al B4l BAE @7t @ut 1

@+ O - D gh= TS L.

@:117®:ﬁ7®_ﬁ

Q O © 0+0+0 5
ntutn 11 T
O+0O+0©=27

©=06+1-> Q-1=0+1 > ©= Q-2

QO+O+©= 27
O+(@-1)+(@-2) = 27
+O+@-3 = 27
O+O+@= 30
@=30+3=10,0=9, ©=38

10 9 8
@:ﬁ ) @:ﬁ ) @:ﬁ

9 8 10 7

L ®+@_®:ﬁ+ﬁ_ﬁ:ﬁ A

Yt




29 A b AA7} Itk 59 A oo sk A4 A

27 9o U, 8 Y Aol o] AAZ} 7H 7=
Aot A ZtE ot duht w2 F=2] H5HA Q.

A
H

Mo L
IS{TJ‘. ot
=)

i




AZE, @59

3
32
9

LSS
1

13. of® Aol A AHAE 27 ]

- 96 A

3 6
=3- +4- =8 (A7t
35 45 =8 (A7

(A7 1AIZE S T E

3x4=12 ()
(AIEALZE 8 A1 2F B9t BHE.

12x 8 =96 (/)




